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(iv) 9% 03 & B 990 @ud fipen 78 2 aenfY < sie ard v wew A d e g de
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(V) I ATl G H e @ 8 ok R T A & wdan e 8
(vi) PR B T B AR 7o 2
(vii) 5o W9 U IR™ A R o 6 SR Y, O 9T A IR & 96 W WA A€ T
P |
Note (1) All questions are compulsory,
(i) The question paper consists of 30 questions divided into four Sections *A°. *R". "€ and
. Section *A” comprises of ten questions of | mark each, Section ‘B3 comprises of fiv ¢
questions of 2 marks ¢ach, Section *C™ comprises of ten questions of 3 marks cach and
Scction *D° camprises ot five questions of' 6 marks cach,
(iit) - All questions in Section *\™ arce to be answered in one word or seitence or s per the evact
requirement ol the question,
(iv)  There is no overall choice. However, imernal choiee has been provided in one (question o2
marks. three questions of 3 marks cach and two questions of 6 marks cach, You have 1o
attempt only ane of the aliernatives in all such questions.
(v} In questions on construction, drawime should be nem and exactly as per the 2nen
measurement,
(vi) Use of caleulator is not permitied.
(vit) Start [rom the first question and proceed 1o the last, Do not waste FOUE TR OACT I uiest iy

which you cannot solve.

[1] [ T Over

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



wod duluopIeo@ N Mmm//:diy

http://www.ukboardonline.com
qE -
(SECTION-*A’)
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Write the condition to be satisfied by q, so that a rational number b has non-terminating repeating
gq

decimal expansion.

y
2 fr # qgR p(x) & R, y = p(x) @1 7 R 2 \ /
n f i
b(x) & sl B dE T AR YT 0 X 1
The graph of y = p(x) is given in figurc for polynomial
b(x). Find the number of zeroes of p(x). y
3. fgem W@ 22 - 25 = 0 B 4 W AW 1
Find the roots of quadratic equation x% — 25 = 0.
4. [&H TARR 20 (AP BT odl 92 (9-5n) &1 39 AR @ Graai 0T ST AT 1
The n™ term of A.P. is (9—5n). Find its 5™ term.
tan 54°
) &1 HIF 37 B | 1
cot36°
) tan 54°
Find the value of .
cot36°
6 fF ¥ 0 g P 9 0= T g0 W PA TR PB W @
TWER 80° & BT R FaT &, A LPOA T HH 51 S| Py
[n the figure, tangents PA and PB from a point P 1o a cricle with cenire B
O are inclined to cach other at angle of 80°, then find the valuc of ZPOA.,
7. AABC H AB = 63 cm, BC = 6cm T1 £B = 90° &1 AC &1 T 5 BT | 1
In AABC, AB = 6v/3 cm, BC = 6cm and ZB = 90°. Find the value of AC.
8. IR U fem & w14 I & A anigy @1 R s A 1
If the diameter of a semi circle is 14 cm, then find its perimeter.
9. fad Ty gRARAT dea WM | x TNy & 7F T A 1
Write the values of x and y from the given frequency distribution table.
[ wlamm | amawa ol arawa

(Class interval) | (Frequency) | (Cumulative frequency)
0-10 5 ! 5
T 10-20 X - 15
20-30 0 ¥
30-40 15 | 50

I
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U qel i 5 Pl 7 o9 AR 3 woe WS E | 3 A A A @ e A et o ) 3 @
midem 2 & Pareh 78 it ol 78 2 1

A bag contains 5 black, 7 red and 3 white balls. A ball is drawn at random from the bag. What is the
probability that the ball drawn is not black.

qE -7
(SECTION-‘B’)

K& 0 7 & forg, e Was sl & g & ouRfva wu 3 oie ga 8 ? 2
For what valuc of K will be the following pair of linear equations have infinitely many solutions ?
4x+5y =10
Kx+10y =0
feagu f6:  taneo°-tan30° 2
: = tan30°
Show that:  14tan60°tan 30°
fog @fo & 45 (0, 0), (5. 5) @1 (-5, 5) T wm ARfEag B @ i &) 2

Prove that the points (0, 0), (5, 5) and (=5, 5) are the vertices of a right angled isosceles triangle.

& Faey el ABC 3R PQR @ &3wall &1 IUE 16:25 & AR BC = 6.4 AN, @ QR & =rd
T Y| ' 2
Areas of two similar triangles ABC and PQR are in the ratio 16 : 25, if BC = 6.4 cm, find the length
of QR.

T& U 1 & AR a1 o 8| el @ oa e @ miea 3w P 2
() 1 3R 4 & 99 fea 5 F&201

(ii) v faww wEm

A dice is thrown once. Find the probability of getting :

(1) a number lying between | and 4

(1i) an odd number

VA (OR)

T 4 4 20 R & B R 1 & 20 T A Tt o €1 9R 9 0 4 A 0o R g
el St &, gae mited sma A 5 38 o w® sifkd 8

() v gl ot wen

(i) 3 ¥ forw @ w=

A box contains 20 discs which are numbered from | to 20. If one disc is drawn at random from the
box, find the probability that it bears :

(1) a perfect square number

(i) a number divisible by 3
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(SECTION-C*)

16. Rig B & 2 — V3 @ Aol W 2 3

Prove that 2 — /3 is an irrational number.

F9d1 (OR)
s fre UeliRen &1 waim #wd 867 T 255 @ HCF 1 #R &k Av g7@7 LeM s
Mo

Using Euclid’s Division Algorithm, find the HCF of 867 and 255 and then find their LCM.

17. TG x3 ~ 7x + 6 B 37 T YT Ta DY, A 396 0F 0w 1 R 3

Obtain all other zeroes of polynomial x3 — 7x + 6, if one of its zeroes is 1.

18. FHFE 6x + 3y = 6xy AN 2x + 4y = Sxy &1 WeF TN 3 TH § 87 =W &7 Afow| 3
Solve the equations 6x + 3y = 6xy and 2x + 4y = 5xy, by reducing them to a pair of linear

equations.

19. {63 e Ao (AP.) & W U2 8, 3o 9T 62 R Wi 7 I 210 B) v A wEw AR wd

IR 310 g 3
The first term of A.P. is 8, the last term is 62 and the sum of terms is 210. Find the number of terms
and the common difference.

20.f€ PR 145eca ©_ sin®A 3
Prove that : secA  1-cosA
IYl (OR)
g #IRT f& : sinA+cosA . sinA—cosA _ 2

Prove that : sinA-cosA = sinA+CosA  sin? A-CosZA

21. o301 A (=2, 2) 3R B (2, 8) ® WA I} YWY AB B AR WY AN § fwf ave A
famgsil & i sm@ AT 3

Find the coordinates of the points which divide the line segment joining A (=2, 2) and B (2, B) into
four equal parts.

22 Rk g (m, 3), (6, —2) IR (-3, 4) T & & m T 77 7A@ PR 3
Find the value of m if points (m, 3), (6, =2) and (-3, 4) are collinear.
23, fg DRY & agw g A 99 W iR 78 ) ot Y At orarget weR Beh £ 3

Prove that the lengths of two tangents drawn from an external point to a circle are equal.
24. & fa ABC TgY, R AB=5 @i, BC=7 ¥, ZABC=50° & R & 3 Prgw &1 v
o 5 - ?
ifory, foreat 4oC 4 ABC 1 WG el B - T € 3
Draw a triangle ABC with side AB=5 cm, BC=7 cm, ZABC=50°. Then construct an another triangle

7
whose sides are 5 times the corresponding sides of A ABC.
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frs § O &= Tl g9 & TH FGYUTT OPBQ & i (& I OABC &1 &M E| Q
e 0A=20 ¥ &, B AT & &% @ AR (v = 3.14 ARA)

In the adjoining figure, a square OABC is inscribed in a quadrant OPBQ of a
circle of center O. If OA=20 cm, find the area of the shaded region. (use w = 3.14)

AT (OR)

3 A 42 %0 B & 1@ 99 ¥ 1@ BIogEvs OAPB HieT T 8|
Promave @ & 120° § | FUEUe OAPB &1 URAT 99 &%

I BT (1 =2 A
In the adjoining figure a scetor OAPB is cut from a circle of radius 42 cm.
The angle of the sector is120". Find the perimeter and area of sector OAPB. (r= -25%}

e - T
(SECTION-'D")

. &1 AN GRS Pid §1a Bifer, R it @ A 365 8 6

Find two consecutive positive integers, sum of whose squares is 365.
3Tl (OR)

UG AT BT &% 9 T SHE 9 @ a0 8, I THB S S IHIE HR Y & Wi 2 3w e
3 3% de] € I 2 AR BN g @ 3§ AR dieE @Y 2 3o 9a1 ¢ ) &9wa 67 @ T
9¢ VI §| HIFA H Ers a0 e S S |

The arca ol'a rectangle gets reduced by 9 square units, if its length is reduced by 5 units and breadth
is increased by 3 units. If we incrcase the length by 3 units and the breadth by 2 units, the area
increases by 67 square units. Find the length and breadth of rectangle.

M W A g W 0B g9 RIS $1 I B 60° #1 15 WavS B IgA & qvER A B

gedas 30° 8 9 | AR g W 1500V3 WMo #1 g $ar W 9 w1 § @ 2 oew @
ard fadl ot gver § g @i http://www.ukboardonline.com 6
The angle of elevation of an acroplanc from a point on the ground is 60". Afier a flight of 15 seconds,

the angle of elevation changes to 30", If aeroplane is flying at a constant height of 1500v3 m. then
find the speed of aeroplane in km per hour.

28, 4MTAT T AT R ? 6
Rra § BLAR CM & @9 B[d ABC 9 wiftaard & o 39 Bge &1 &1 A Wi 2|
Rz ofor f& - B
4 (BL'+ CM%) = 5§ BC*
What is Baudhayan Theorem ? M
In figure, BL and CM are medians of a triangle ABC right angled at A.
Prove that -
4 (BL*+ CM*)=5BC’ C L A
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AT (OR)

aft fodh g 9 U5 N @ WHER S 2 ol 3t PP el W ST B @ B W
v Wi i, @ g Bl B 3 o < god 0 @ ague o Rl @ o €

TR Y BT O NG T BN A
AABCH DEIBC 2 IR AD=4,AE=8.DB=x—4 3R EC=3x-19
& x F AF 9 B D
If a line is drawn parallel to one side of a tnangle to intersect the other
two sides in distinct points, then prove that the other two sides are
divided in the same ratio.

Using the above theorem solve :
InA ABC,DEIIBC,ifAD=4, AE=8,DB = x — 4 and EC = 3x — 19. Find the value of x.

& Raclir Brear 3.5 ¥ 910 U5 9§ & PR @ &, S AW A a1 U6 el W earifiE 21 g
Realr & wget S 15.5 W &1 o Raely 71w g e 7 e s AR (r=2%) 6

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of same radius. The total

height of the toy is 15.5 cm. Find the total surface arca and volume of the toy. (7 = %)

fr il o1 aged S B 6

Find the mode for following data :
g1 SfERTe
Class interval

EEEIRGI
Frequency

|
|

= E
5-15 | 15-25 | 25-35 | 35-45 | 45-55 | 55-65

6 11 21 23 14 5

s o o ok K kK

http://www.ukboardonline.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
39S g Aud o 3R 10 393 O,
Paytm or Google Pay &

231 (HBG) [6]

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



http://www.ukboardonline.com

http://www.ukboardonline.com

http://www.ukboardonline.com

http://www.ukboardonline.com



